GENERAL:

THE STRUCTURAL DRAWINGS SHALL BE USED IN CONJUNCTION WITH THE
DRAWINGS OF ALL OTHER DISCIPLINES AND THE SPECIFICATIONS. THE
CONTRACTOR SHALL VERIFY THE REQUIREMENTS OF OTHER TRADES AS TO
INSERTS, ANCHORS, SLEEVES, AND OTHER ITEMS TO BE PLACED OR SET IN
THE STRUCTURAL WORK.

THE CONTRACTOR SHALL BE RESPONSIBLE FOR COMPLYING WITH ALL

SAFETY PRECAUTIONS AND REGULATIONS DURING THE WORK.

THE CONTRACTOR SHALL BE RESPONSIBLE TO CONFIRM ALL THE FIELD DIMENSIONS

ANY UNUSUAL CONSTRUCTION CONDITION THAT JEOPARDIZE SAFETY OF LABOR AND/OR PUBLIC,
CONTRACTOR SHALL CONTACT ENGINEER IMMEDIATELY BEFORE PROGRESS, IN CASE OF

AT THE TIME AND/OR IN FUTURE OR IN CASE OF THE DISCREPANCIES IN THE PROJECT.
SPECIFIED MATERIALS AND FASTENERS ARE ALLOWABLE TO BE SUBSTITUTED

WITH EQUAL GREATER SPECIFICATION.

COLD-FORMED STEEL
NOTES:

1. ALL COLD FORMED STEEL STUDS, JOIST, TRACK & MISC. SHAPES
MILL CERTIFIED STEEL TO MEET:
A. ASTM A1003 ST GRADE 50, TYPE H 54-97 mil GALV. STEEL
B. ASTM A1003 ST GRADE 33, TYPE H 18-43 mil GALV. STEEL

2. ALL STEEL STUDS, JOIST & TRACK SHALL HAVE A LEGIBLE LABEL, STAMP OR
EMBOSSMENT, AT A MAXIMUM OF 48" O.C., INDICATING THE MANUFACTURER'S
NAME, LOGO OR INITIALS, ICC EVALUATION SERVICE REPORT NUMBER, THE
MATERIAL BASE METAL THICKNESS (UNCOATED) IN .001 in. AND THE YIELD
STRENGTH IF DIFFERENT THAN 33 ksi.

3. MILL CERTIFICATES FROM THE COIL PRODUCER SHALL BE MADE AVAILABLE IF
REQUESTED. MILL CERTIFICATE TO INCLUDE AS A MINIMUM THE CHEMICAL
COMPOSITION, YIELD STRENGTH, TENSILE STRENGTH, ELONGATION, AND COATING
THICKNESS.

FLANGE / LEG WIDTH

/ (IN 1/100 in)

55081 62'54\ THICKNESS

IN mils (1 mil = 1/1000 in)

MEMBER DEPTH / SECTION TYPE:
(IN 1/100 in)

S=STUD OR JOIST SECTION

T= TRACK SECTIONS

U=CHANNEL SECTIONS

F=FURRING CHANNELS SECTIONS

Z=ZEE SECTIONS

**THIS PROJECT WILL BE BUILD USING
FRAMECAD ® MACHINERY FOR AUTOMATIVE CFS
CHANNELS PRODUCTION. THUS, T-SECTION IS
REPLACED BY S-SECTION FOR ALL TRACKS,
STUDS BLOCKING, TRUSS CHORDS WHERE
TYPICALLY T-SECTION IS IN USE.

4. SECTION PROPERTIES:

MINIMUM DELIVERABLE GAUGE | DESIGN THICKNESS
THICKNESS (mils) (INCHES)

33 20 0.0346

43 18 0.0451

54 16 0.0566

68 14 0.0713

97 12 0.1017

118 10 0.1242

5. STUDS AND TRACKS THAT COMPRISE A HEADER, STRONGBACK OR SILL SHALL
NOT BE SPLICED. CURVED HEADERS, STRONGBACKS, AND SPANDREL TRACKS
SHALL BE STRETCH FORMED. CLIPPING OR CRIMPING OF FLANGES OR WEBS IS
NOT PERMITTED. IF OTHER PROPRIETARY CURVED PRODUCTS ARE PROPOSED
THEY SHALL BE SUBMITTED TO DEVCO, WITH APPROPRIATE CALCULATIONS
AND/OR TESTING, FOR REVIEW AND APPROVAL PRIOR TO CONSTRUCTION.

6. EXTERIOR AND INTERIOR FRAMING, SHEATHING AND FINISH MATERIAL SHALL NOT
BRIDGE DEFLECTION JOINTS (COMPENSATION CHANNEL), SEISMIC JOINTS,
EXPANSION JOINTS, OR ANY LOCATION WHERE DIFFERENTIAL MOVEMENT OF THE
STRUCTURE IS EXPECTED. EXCEPT AS SPECIFICALLY DETAILED WITHIN, SLIP
JOINTS SHALL BE INSTALLED BETWEEN FRAMING SUPPORTED BY DIFFERENT
FLOORS/ROOF(S). FOR EXAMPLE, A VERTICAL SLIP JOINT SHALL BE INSTALLED
BETWEEN A SOFFIT HANGER AND A WALL.

7. SCREW VALUES USED IN DESIGN MEET 2007 "NORTH AMERICAN SPECIFICATION
FOR THE DESIGN OF COLD-FORMED STEEL STRUCTURAL MEMBERS" (AISI
S$100-07/S2-10) INCLUDING THE 2010 SUPPLEMENT SECTION E4 FOR SCREW
CONNECTIONS. SCREWS TO CONFORM TO SAE J78.

L, 1, 3 THREADS MIN.
ﬁ 1 7 THRU STEEL

d

[

8. WELDING:
A. WELDING TO BE PER AWS D1.3 "STRUCTURAL WELDING CODE - SHEET
STEEL".
B. WELDS TO BE INSPECTED PER APPLICABLE BUILDING CODE.
C. MINIMUM E60XX ELECTRODES.
D. USE LOW HYDROGEN ELECTRODES FOR WELDING SHEET STEEL TO
STRUCTURAL STEEL GREATER THAN 1/4" IN THICKNESS.
E. ELECTRODES MUST BE ACCEPTABLE (PER THE ROD MANUFACTURER)
FOR USE IN SEISMIC APPLICATIONS.
F. ALL WELDS OF GALVANIZED STEEL SHALL BE TOUCHED UP WITH A ZINC
RICH PRIMER.
G. FOR MATERIALS LESS THAN OR EQUAL TO 0.1242" THICK, DRAWINGS
SHOW NOMINAL WELD SIZE. FOR SUCH MATERIALS THE
EFFECTIVE THROAT OF WELDS SHALL NOT BE LESS THAN THE
THICKNESS OF THE THINNEST CONNECTED PART.

STRUCTURAL STEEL NOTES:

1. ALL DESIGN, FABRICATION AND ERECTION SHALL CONFORM TO THE AISC STEEL CONSTRUCTION
MANUAL, 13TH EDITION, WELDING SHALL CONFORM TO THE LATEST AWS AND AISC SPECIFICATIONS.

2. WORKMANSHIP SHALL BE IN ACCORDANCE WITH THE BEST PRACTICE AND WITHIN THE TOLERANCES
SPECIFIED IN THE AISC SPECIFICATIONS FOR STRUCTURAL STEEL.

3. IT IS SPECIFICALLY NOTED THAT BURNED HOLES ARE NOT ACCEPTABLE UNLESS SPECIAL
PERMISSION IS GIVEN BY ENGINEER.

4. ALL SHOP FABRICATED WORK SHALL BE DONE IN A SHOP APPROVED BY THE GOVERNING AGENCY.
FABRICATOR SHALL SUBMIT PROGRAM OF WELDING INSPECTION TO ENGINEER FOR APPROVAL.

5. ALL STRUCTURAL STEEL SHALL BE AS FOLLOWS UNO:

ALL WF, WT SHAPES: A992 GRADE 50
CONNECTION PL & MISC STEEL (UNO): ASTM A36

GUSSET & COLLECTOR PLATES: ASTM A572 GRADE 50
PIPE COLUMNS (TYPE S, SEAMLESS): ASTM A53 GRADE B
STRUCTURAL TUBING: ASTM A500 GRADE B

ANGLE, CHANNELS: ASTM A36
THREADED ROD: ASTM A36
HEADED SHEAR STUDS: ASTM A108,

GRADES 1015 TO 1020,
TYPE 316, 50 ksi
ELECTRODES: a) ET0XX FOR A36
b) FOR OTHER STEEL

GRADES USE MATCHING WELD METAL AND
PROCESSES

6. ALL HIGH STRENGTH BOLTS SHALL BE ASTM A325-N TYPE UNLESS
OTHERWISE NOTED.

7. ALL BOLTS USED FOR ERECTION SHALL BE ASTM A325 TYPE WITH THREADS EXCLUDED FROM SHEAR
PLANES.

8. ALL PLAIN ANCHORS SHALL BE A36; ALL ANCHOR BOLTS SHALL COMPLY WITH ASTM F1554. 3"
MINIMUM CONCRETE COVER WILL BE PLACED AROUND ALL ANCHOR BOLTS EXPOSED TO THE
WEATHER, U.N.O.

9. WELDING MATERIALS: PROVIDE TYPE REQUIRED FOR MATERIALS BEING WELDED, PER AWS D1.1.

10. PROVIDE CONTINUOUS INSPECTION FOR ALL FABRICATION AND
WELDING OF STRUCTURAL STEEL AS REQUIRED PER CODE REQUIREMENTS.

11. ALL COMPLETE PENETRATION GROOVE WELDS IN JOINTS AND SPLICES SHALL BE TESTED 100
PERCENT IN ACCORDANCE WITH IBC . USE ONE OF THE APPROVED METHODS OF TIGHTENING HIGH
STRENGTH BOLTS.

12. AWELDING SEQUENCE SHALL BE PLANNED TO MINIMIZE RESIDUAL
STRESSES AND DISTORTIONS OF INDIVIDUAL MEMBERS AND THE BUILDING RAME. ALL DETAILING,
FABRICATION, AND ERECTION SHALL COMPLY WITH AISC, LATEST EDITION.

13. UNLESS OTHERWISE NOTED, ALL STIFFENER PLATES ARE 3/8" THICK
MINIMUM AND ALL BUTT WELDS ARE FULL PENETRATION WELDS. ERECTION CLIPS, TEMPORARY
BRACING, ETC., REQUIRED BY THE CONTRACTOR ARE NOT SHOWN.

14. ALL STRUCTURAL STEEL SHALL BE PAINTED WITH ONE SHOP COAT OF ZINC CHROMATE PRIMER OR
EQUAL. AFTER ERECTION, FIELD CONNECTIONS SHALL BE TOUCHED UP. DO NOT PAINT PORTION OF
STEEL TO BE EMBEDDED IN CONCRETE, HEADED ANCHOR STUDS, FAYING SURFACES OR AREAS TO
RECEIVE FIRE PROOFING. EXTERIOR, EXPOSED STEEL MEMBERS ARE SPECIFIED TO BE HOT-DIPPED
GALVANIZED OR STAINLESS AS NOTED.

15. WELD LENGTHS CALLED FOR ON PLANS ARE THE NET EFFECTIVE LENGTH REQUIRED. WHERE FILLET
WELD SYMBOL IS GIVEN WITHOUT INDICATION OF SIZE, USE MINIMUM SIZE WELDS AS SPECIFIED IN
AISC MANUAL OF STEEL CONSTRUCTION LATEST EDITION. THIS INCLUDES OPEN WEB JOIST
CONNECTIONS.

16. THE USE OF E70T-4 WELDING WIRE IS NOT ALLOWED FOR ANY
APPLICATION.

SPECIAL INSPECTIONS
NOTES:

PER IBC 2021 SPECIAL INSPECTIONS, SEE INTERNATONAL BUILDIG CODE, CHAPTER 17.

1705.12.2 - REQUIRED VERIFICATION AND INSPECTION FOR WIND RESISTANCE

1. INSPECT WELDING OPERATIONS OF ELEMENTS X IBC 1705.12.2
OF THE MAIN WIND FORCE-RESISTING SYSTEM
2. INSPECT SCREW ATTACHMENT, BOLTING, IBC 1705.12.2

ANCHORING, AND OTHER FASTENING INSPECTION OF SHEAR

OF ELEMENTS OF THE MAIN WIND FORCE- WALLS AND DIAPHRAGMS
RESISTING SYSTEM, INCLUDING SHEAR WALLS, X | WITH FASTENERS SPACED
DIAPHRAGMS, COLLECTORS (DRAG STRUTS), GREATER THAN 4" OC IS
BRACES, AND HOLD-DOWNS NOT REQUIRED

1705.13.3 - REQUIRED VERIFICATION AND INSPECTION FOR SEISMIC RESISTANCE

1. INSPECT WELDING OPERATIONS OF ELEMENTS

OF THE MAIN SEISMIC FORCE-RESISTING SYSTEM X |IBC1705.13.3

2. INSPECT SCREW ATTACHMENT, BOLTING, X |IBC 1705.13.3
ANCHORING, AND OTHER FASTENING OF INSPECTION OF SHEAR
ELEMENTS OF THE MAIN SEISMIC WALLS AND DIAPHRAGMS
FORCE-RESISTING SYSTEM, INCLUDING SHEAR WITH FASTENERS SPACED
WALLS, DIAPHRAGMS, COLLECTORS (DRAG GREATER THAN 4" OC IS
STRUTS), BRACES, AND HOLD-DOWNS NOT REQUIRED

1705.2 - STRUCTURAL STEEL CONSTRUCTION (AISC 360 AND ASIC 341)

5. STRUCTURAL STEEL WELDING:

C. INSPECTION TASKS AFTER WELDING (INSPECT
FOR EACH WELDED JOINT OR MEMBER, THE QA X
TASKS LISTED IN AISC 360, TABLE N5.4-3)

1705.6 - SOILS

1. VERIFY MATERIALS BELOW SHALLOW
FOUNDATIONS ARE ADEQUATE TO ACHIEVE THE X
DESIRED BEARING CAPACITY

2. VERIFY EXCAVATIONS ARE EXTENDED TO X
PROPER DEPTH AND HAVE REACHED PROPER
MATERIAL

3. PERFORM CLASSIFICATION AND TESTING OF

COMPACTED FILL MATERIALS X
4. VERIFY USE OF PROPER MATERIALS, DENSITIES, X

AND LIFT THICKNESSES DURING PLACEMENT

AND COMPACTION OF COMPACTED FILL
5. PRIOR TO PLACEMENT OF COMPACTED FILL, X

OBSERVE SUBGRADE AND VERIFY THAT SITE
HAS BEEN PREPARED PROPERLY

SCHEDULE OF SPECIAL INSPECTIONS
COLUMN HEADER NOTATION USED IN TABLE:
C INDICATES CONTINUOUS INSPECTION IS REQUIRED.
P INDICATES PERIODIC INSPECTIONS ARE REQUIRED. THE NOTES AND/OR CONTRACT
DOCUMENTS SHOULD CLARIFY.
BOX ENTRY NOTATION USED IN TABLE:
X IS PLACED IN THE APPROPRIATE COLUMN TO DENOTE EITHER "C" CONTINUOUS
OR "P" PERIODIC INSPECTIONS.
-- DENOTES A ONE-TIME ACTIVITIY OR ONE WHOSE FREQUENCY IS DEFINED IN SOME
OTHER MANNER.
ADDITIONAL DETAILS REGARDING INSPECTIONS ARE PROVIDED IN THE PROJECT
SPECIFICATIONS OR NOTES ON THE DRAWINGS.

SLAB ON GRADE
NOTES:

SLAB CONSTRUCTION REFER TO S1/2 DETAIL

MAXIMUM SLUMP FOR CONCRETE SLABS WILL BE 5" WITH TYPE Il CEMENT

ALL WELDED WIRE FABRIC SHALL BE IN ACCORDANCE WITH ASTM A-185. LAP ADJOINING PIECES
AT LEAST ONE FULL MESH. WELDED WIRE FABRIC SHALL BE ORDERED IN SHEETS, NOT ROLLS.
WELDED WIRE FABRIC SHALL BE BLOCKED INTO POSITION WITH PRECAST CONCRETE BLOCKS
HAVING THE SAME COMPRESSIVE STRENGTH OF THE SLAB.

THE ALTERNATE WIRES OF THE WELDED WIRE FABRIC MUST BE PRECUT AT THE SLAB
CONTRACTION JOINT LOCATIONS TO CREATE A "WEAKENED PLANE".

THE USE OF POLYPROPYLENE FIBERS (IN LIEU OF WELDED WIRE FABRIC) IS PROHIBITED.

ALL POROUS FILL MATERIAL SHALL BE A CLEAN GRANULAR FILL MATERIAL WITH 100% PASSING
THE 1 V2" SIEVE AND NO MORE THAN 5% PASSING THE NO. 4 SIEVE. POROUS FILL SHALL BE
COMPACTED TO 98% MAX DRY DENSITY PER ASTM D-1557 MODIFIED PROCTOR METHOD.

SLAB JOINTS SHALL BE FILLED WITH A SEALANT PER THE MANUFACTURER RECOMMENDATIONS.

SLABS EXPOSED TO WEATHER SHALL BE AIR ENTRAINED TO 5% (x1%) WITH AN ADMIXTURE THAT
CONFORMS TO ASTM C-260.

THE SLAB SHALL BE WET CURED BY KEEPING THE SLAB MOIST FOR A PERIOD OF SEVEN DAYS.
ALTERNATIVELY, PROVIDE A WET-CURING SEALANT PER THE MANUFACTURERS
RECOMMENDATIONS.

WRAP VAPOR BARRIER AROUND FOOTING ACCORDING TO BUILDING SCIENCE BEST PRACTICE.

CAST-IN-PLACE
CONCRETE NOTES:

CONCRETE MIXES SHALL BE DESIGNED PER ACI 301, USING PORTLAND
CEMENT CONFORMING TO ASTM C-150 OR C-595, AGGREGATE CONFORMING
TO ASTM C-33, AND ADMIXTURES CONFORMING TO ASTM C-494, C-1017, C818,
AND C-260. CONCRETE SHALL BE READY MIXED IN ACCORDANCE WITH ASTM
C-94.

CONCRETE SHALL CONFORM TO THE FOLLOWING:

LOCATION MIN F'C
FOUNDATION 3,000 PSI
SLAB ON GRADE 3,000 PSI

REINFORCING STEEL, INCLUDING HOOKS AND BENDS, SHALL BE DETAILED IN
ACCORDANCE WITH ACI 315. ALL REINFORCING STEEL INDICATED AS BEING
CONTINUOUS SHALL BE LAPPED WITH A TYPE 2 SPLICE UNLESS OTHERWISE
NOTED.

BAR SUPPORTS SHALL BE PROVIDED FOR ALL REINFORCING STEEL TO
ENSURE MINIMUM CONCRETE COVER. BAR SUPPORTS SHALL BE PLASTIC
TIPPED OR STAINLESS STEEL.

CONCRETE EXPOSED TO WEATHER SHALL BE AIR ENTRAINED TO 5% (+-1%)
WITH AN ADMIXTURE THAT CONFORMS TO ASTM C-260.

=

N~

DESIGN

PARAMETERS:

GENERAL PARAMETERS:

THE DESIGN FORCES LISTED ARE PER
2023 FLORIDA BUILDING CODE (FBC-23) ASCE 7-16

LOADS: DEAD LOAD (DL) LIVE LOAD (LL)
WALL: 10 PSF

ROOF: 12 PSF 20 PSF

FLOOR: 15 PSF 40 PSF

WIND DESIGN BASIS:

BASIC WIND SPEED..........ovvveereeeereeeeereseeeseneeens 165 MPH

IMPORTANCE FACTOR ... sereerneseenns 1.0

RISK CATEGORY. ....ovveoreeeeeeeeeeeeeeeeeeseeeeeeeeeeeseeee I

WIND EXPLOSURE......veoooveeeeeeeeeeeeeeeeeeeeeseesee D

SNOW LOAD (DESIGN SNOW LOAD)................. 0 psf

SEISMIC DESIGN BASIS:

IMPORTANCE FACTOR | vvooooveoeeeeee e 1.0

SITE CLASS...oeveeeeeee oo eeeeeesseeeeeeeseesseeeenns B

S et eee e e e e ee e e e 0.047

X PO 0.026
Y0 0.05

SEISMIC DESIGN CATEGORY ..corvveororeererreree. A

BASIC SEISMIC FORCE-RESISTING SYSTEM..... B-2 (ASCE 7-16 TABLE 12.2-1)
e eeeeeeeeeeeeeeeeseeeseeeeee e eeeeeeeeeeseeeeeeeeeeeeeseeeeesenes 6

SOIL DATA:

BEARING CAPACITY:

2,000 PSF

BASED ON GEOTECH REPORT BY

UNIVERSAL ENGINEERING SCIENCES, PROJECT #3330.2200301.0000,
DECEMBER 16 2022

REGISTERED PROFESSIONAL ENGINEER - ALLAN G ABUBAKAKAR

CODE /AUTHORITY:

ALL WORK SHALL COMPLY WITH THE FOLLOWING:
- 2021 INTERNATIONAL BUILDING CODE (IBC);
- 2023 FLORIDA BUILDING CODE (FBC);
- ASCE 7-22 MINIMUM DESIGN LOADS AND ASSOCIATED CRITERIA
FOR BUILDINGS AND OTHER STRUCTURES;
- AISC 341-16 SEISMIC PROVISIONS FOR STRUCTURAL STEEL BUILDINGS;
- AISC 360-16 SPECIFICATION FOR STRUCTURAL STEEL BUILDINGS;
- ASW D 1.3 STRUCTURAL WELDING CODE - SHEET STEEL,;
- ACI 318-19 BUILDING CODE REQUIREMENTS FOR STRUCTURAL CONCRETE;

SHEET LIST.
SHEET
NUMBER SHEET NAME
SO COVER SHEET
S1 STRUCTURAL FOUNDATION PLAN
S2 STRUCTURAL STEEL PLAN
S3 STRUCTURAL PLAN AND SECTIONS
S4 STRUCTURAL PLANS AND SECTION
S5 STRUCTURAL ROOF PLANS
S6 STRUCTURAL SECTIONS
S7 STRUCTURAL SECTIONS
S8 STRUCTURAL SECTIONS
S9 STRUCTURAL DETAILS
S10 STRUCTURAL DETAILS

\’)v

=
AEL
\ s

SSs—
»

—
»

) \‘_\
=

\__\
A=

DRAWN BY

Dz

CHECKED BY

MK

PROJECT NUMBER

23-126

SHEET NUMBER:

SO

SHEET NAME:

COVER SHEET

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




= = = = = & =
= = = < © © N = o
= 3 S = = = = =
~ 5] ~ o ~ o ~ \‘: »
~ o © 1 1 1 1 1 1
! = ! ! ™ o < 0 N~ I\
N o < ~ -~ - < < © o
: 4'-13/8" 19'- 10" 24'- 10"
N
> —SEE NOTE 2
rgn & — — — — — — — — — — — — — — = : : 39'- 7"
>
e R Vi — — — — — — — — — — — — — = — — — — — — -+ — X 37 -91/2"
> 8x8x3/8
f EMBED PLATE
&
. 10'- 10" \ L 0 -4"
& c11 \ T o -4
°? R N
2 [ b
2'-111/4" |, 4-03/4" 3-51/2" |, 3-334" 2-21/4 w
COLUMN FOOTER 84x84x12 COLUMN FOOTER 66x66x18 |
BELOW SLAB FOOTING BELOW SLAB FOOTING
#5 @12" ON CENTER #5 @9" ON CENTER i
EACH WAY TOP & BOTTOM EACH WAY TOP & BOTTOM . i | [—
C 276" - — — - — — — — — - L — — — — — — — + — — — | S—— — — +H — X 27'-6"
> | | © \ -0'-4"
< COLUMN FOOTER 198x66x18
25'-51/4" ® ™ BELOW SLAB FOOTING
- | #5 @9" ON CENTER 12Hx12W FOOTING
~ E2 | L SEE NOTE 2 EACH WAY TOP & BOTTOM (2) #5 BOTTOM
o \&j} | | . PER 4/S1
5 = o 2 ﬁ,/ 12Hx18W FOOTING .
D — = — — - — — —1BK A - — — — — — — o < SHE — — — + — — — — (2)#5 BOTTOM— = | | T+
i - E2 g N Sl gl PER 5/S1 o
gs o | -0'-4 E1 ;r i 5\0 m
® Al & 3 ® [
: os N I X : N,
18'-51/4" - A -
E _ _ _ il $ _ _ _ 1 _ 'SLAB-ON-GRADE 4" _ _ _ 1 N7 -9 172"
17'- 4 1/8" T WITH 6x6 - W1.5xW1.5 W.W.F. OR m
i | | FIBERMESH PER 8/S1 —
: \ ¢ \s/
S —— 12Hx12W FOOTING 43 "21/4%, 3'-33/4
x (2) #5 BOTTOM
s (2) #5 BOTTOM PER 3/S1 \ %H#’g %VPF/? DT 'SSTTOM \ GARAGE SLAB
= PER 3/S1 5 (PER 00" 2" TOTAL SLOPE FROM
b K LAB-ON-GRADE 4" i REAR TO FRONT
K o WITH 6x6 - W1.5xW1.5 W.W.F. OR )/
- FIBERMESH PER 8/S1
. 3
© | @ — 3-0" 9 1/2" A
R
N 3" RECESSED =
~ 12Hx18W FOOTING SHOWERPAN ~ \ E1 ~ E1
(2) #5 BOTTOM \ f ~
PER 1/S1 ‘ A n
_ - _ _ 1 _ _ _ _ _ _ _ | ] [ _ _ _ _ _ _ _ NS NI _ _ il A 1 | N\ 210 1/4"
F = 12Hx18W FOOTING 3% t / % ~
X
o = =
K (2) #5 BOTTOM Q | . SEE NOTE 2 . @ o J :
G - ™ - - -+ T — 1 — — | “PER /ST - — ot - T - - B — — — — + = S 3- 10"
i« 2 & 3 “N “\ v
5 L ° E2 % E2 | % | L =N [ SEENOTE2,3 L SN
1 [O & 1 ‘:
® / o C2 4 N ¥ © M EMBED PLATE > °
Q juf c2 X \a) O ]
H 70" - N —\ Oll
AN -
- _ ] c1 ¥ COLUMN FOOTER 96x54x18 COLUMN FOOTER 72x48x18 COLUMN FOOTER 72x48x18 &
SO - BELOW SLAB FOOTING | BELOW SLAB FOOTING BELOW SLAB FOOTING | -
2 COLUMN FOOTER 54x36x12 - - K #4 @8" ON CENTER #5 @8" ON CENTER #5 @8" ON CENTER R
BELOW SLAB FOOTING = - ® EACH WAY TOP & BOTTOM EACH WAY TOR & BOTTOM EACH WAY TOP & BOTTOM N
#5 @9" ON CENTER
EACH WAY TOP & BOTTOM  2'-9 3/4" 1'-81/4" 5'-91/2" 1'-81/4" 2'-93/4"| 2'-5" 4-6" | 6'-0" 10'- 5" 6'-0" 1'-3 3/4"
|
10'- 10" 21'-25/8" 9-2" 2°-91/2" |, 4'-13/8" 19'- 10" 1'-11/2" 23'-81/2"
H = = H H H] H] = = H = = = = = = = ;r
S = = @ & © © © @ SO S N - © ©
~— A ~ 19 N~ 30} o) %) - — - —| 't B B o
= S D S % © o < © Y = T, 8 Q2 2 5 &
K - > N o > = I © o . X >
N N ™ ™ %) < < < < % 1‘5
1 STRUCTURAL FOUNDATION PLAN
1/4" = 1'-0"
SIMPSON HEAVY-DUTY SIMPSON HEAVY-DUTY SIMPSON HEAVY-DUTY
4" ON CENTER MAXIMUM 0 ML POLYETHYLENE 4" ON CENTER MAXIMUM 10 MIL POLYETHYLENE 4 ON CENTER MAXIMUM REINE. PER PLAN CONCRETE SLAB 10 MIL POLYETHYLENE VAPOR
: ; ' RETARDED
%ﬁ VAPOR RETARDED VAPOR RETARDED - REINF. PER PLAN
- = * ~ R * — i * < 10 MIL POLYETHYLENE r —X
31/2" 4" COMPACTED GRANULAR : 4" COMPACTED GRANULAR . VAPOR RETARDED ' 7 <
z S CAPILLARY BREAK & DRAINAGE z gﬁg'%%ﬂpi%ﬁﬁg% ?&CE{AGE 4" COMPACTED GRANULAR —X
T PAD - COMPACTED GRAVEL T i > _CAPILLARY BREAK & DRAINAGE <
x x Z| PAD - COMPACTED GRAVEL —N NOTE:
L L | —
o o e ® o
N COMPACTED OR COMPACTED OR o 1. g'LE”'SlDN\éEg(')FgRTSHRESHOLDS FORGLASS
‘ UNDISTURBED SOIL UNDISTURBED SOIL COMPACTED OR 2o o :
UNDISTURBED SOIL 2. NO BRICK-LEDGE AT ENTRY HINGE DOORS
COMPACTED OR 4" COMPACTED GRANULAR (FRONT, SIDE, GARAGE, ETC).
UNDISTURBED SOIL _CAPILLARY BREAK & DRAINAGE 3. RECESS OF GARAGE DOOR 1.5" DEPTH,
REINF. PER PLAN PER PLAN REINF. PER PLAN PER PLAN PAD - COMPACTED GRAVEL WIDTH CONFIRMED ON SITE.
7 7 y y 4. STUDS (4) 1/2" DIA 8" LONG FOR
REINF. PER PLAN PER PLAN SLAB-ON-GRADE DETAIL FOOTING 12" THICK.
7 7 8 1" = 10" STUDS (4) 7/8" DIA 16" LONG FOR
=" FOOTING 18" THICK.
2 EXTERIOR WALL FOOTING DETAIL 3 INTERIOR WALL FOOTING DETAIL @ INTERIOR WALL FOOTING @ SLAB STEP
1 n — 1 I_O" 1 n — 1 I_O" 1 n — 1 I_O"
g\/i, .
SIMPSON HEAVY-DUTY COLUMN BxBx3/8 - STUD SHEAR WALL SCHEDULE X-BRACING SCHEDULE
Srup SCREW ANCHOR 1/2" X 12" /f/ EMBED PLATE % <« «
REINF. PER PLAN . 4' ON CENTER MAXIMUM 1/4‘ A \ STUDS ANCHOR BOLTS o HOLD-DOWN PER SCHEDULE ! SPRAY-ROCK" sprayed concrete shear \ X-Bracing strap
- - Q D SEENOTE 4 PER SCHEDULE S WITH /wall, 3 inch thick —
. - A | 5t (22) #14 SCREWS I X———Length of Shear wall (Min.) \ Length of X-bracing (Min.)
p s X X -
4" CURB —X LI REINF. PER PLAN N oA ' >
10 MIL POLYETHYLENE N L z 31/2" ' - H 10 MIL POLYETHYLENE 3 )
VAPOR RETARDED Pa2 & e 10 MIL POLYETHYLENE E £ EH VAPOR RETARDED ! HD per Schedule } HD per Schedule
. . I o VAPOR RETARDED i’ . !
4" COMPACTED GRANULAR N o " - ’ 4" COMPACTED GRANULAR
CAPILLARY BREAK & DRAINAGE N é A%RTAPQ\?EEF{%EEQ%%%EAGE 31 /2,‘, z CAPILLARY BREAK & DRAINAGE Refer to Plans for Specific Transfer & Refer to Plans for Specific Transfer &
PAD - COMPACTED GRAVEL Z Z N Z = Connection Detail at each Shear Wall Location Connection Detail at each X-Bracing Strap Location
é - s PAD - COMPACTED GRAVEL é H Z PAD - COMPACTED GRAVEL
o < ~____ COMPACTED OR x
L o N UNDISTURBED SOIL o HOLD-DOWN SCHEDULE
COMPACTED OR o REINF. PER PLAN - COMPACTED OR
UNDISTURBED SOIL—— —_ N — = UNDISTURBED SOIL TYPE HOLD-DOWN ANCHOR / EMBEDMENT
] 7/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"
PER PLAN REINF. PER PLAN PER PLAN E 45 REBAR REINF. PER PLAN PER PLAN SIMPSON S/HDUS MIN 9" EMBEDMENT
7 / i 7 7/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"
n 2
) PER PLAN PARLEE SIMPSON SHD8S | |\ 9.5" EMBEDMENT
5 EXTERIOR GARAGE WALL FOOTING DETAIL 5 COLUMN TO FOOTING DETAIL - HOLDDOWN DETAIL SIMPSON s/HD10s | [ DA 1002 SRI0 TIITH SIMPSON EPOXY ADRESIVE "SET-367

1" = 1'_0"

1" = 1'_0"

1"

= 1 I_O"

DRAWN BY

DZ

CHECKED BY

MK

PROJECT NUMBER

23-126

SHEET NUMBER:

ST

SHEET NAME:

STRUCTURAL
FOUNDATION
PLAN

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




% , 63/4"

1"-9 1/2’",
4

\

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|

|
5
1-91/2"
:

STEEL POST |
) | | HSS5X5X3/8 | )
N N
™ 8 -51/2" qH——\ ™
- STEEL BEAM -
o o
= T0S | ‘// HSS5X5X3/8 =
9'-81/2" U 38'-5" | | | | |
| |
| | .
| @ |
C - - - E - - - - - - - - - - H—=- - - - — - - - - - - - -
] 7‘ L ‘ H _| ‘
("3 ) 0 N
. o STEEL POST K . ]
W 2 T / HSS5X5X3/8 STEEL BEAM i 3 3
N~ 32] \ © N~
2 < STEEL BEAM STEEL POST 102 1" HSS12X8X5/8 || 2 | i)
g | ‘/ HSS5X5X3/8 ’ f HSS5X5X1/2 m \ ] \
n @ -® N— i:::—::::}::::@::::—::::}::::Z::::—::::}::::Z::::—::::}i:::Z::::—:::*T% S — — — — — — — — — — — " I
! [To)
v ?w ® ‘ ‘ ' " ;r (30) %
. B . 8-7 STEEL POST | 3 | 3
K - o \ TOS HSS5X5X3/8 | N \ -
% _| Yo} Q H _l _|
T w| © STEEL POST < o
Q = HSS5X5X3/8 |
E N 1 — —_— —_— B — —_— —_— —_— —_— —_— —_— —_— —_— —_— 7<W» — —_— —_— —_— —_— —_— —_— —_— —_— —_— —_— —_— —_—
- |
H \
\ ar \
u 11| - 5"
||y TOS
% | | | u ! %
— | = ~
- STEEL BEAM H 0 N
= W10X30 u 5 =
| | |
| H |
H &
u ~ STEEL BEAM 8 -3"
= HSS5X5X3/8 08
[N _ _ _ o _ _ _ _ o 1y . o 1 [ | 4 | - o o o o o | o . [ _ _ - _ | _ =\
* N I ] ] "( ] ] % N
o 1 - o
_' H Hl:ﬂ iiiiiiiiiiiiiiiiiiiii D _'
AN — — — — — — — — — — — — + — 1L — — — — — [ \— — — — — R — =A< EN
10'- 1 | \ S| -
. STEEL BEAM A “ STEEL POST 50 .
b ‘ ‘ ‘ ‘ STEEL POST | ©f = )
® e | H ®
H T /] T I %T
H | "
| | | | <
STEEL POST  STEEL POST
HSS5X5X3/8 HSS5X5X3/8 H
(4 6 3/4" 6 3/4" L
w , 20'-77/8" | 10'- 3 1/2" | 611" | L 19'- 3 1/4" , 3-0" 16'-5" 4-312"
7 \ \ 7 7 7
10'- 10" 21'-25/8" 9'-2" 2'-91/2" |, 4'-13/8" 19'- 10" 1'-11/2" 23'-81/2"
92'-91/2"

@ &6 @ 3 (1)

8

2ND FLOOR STRUCTURAL PLAN

Ve =120

SHEET NUMBER:
DRAWN BY

SHEET NAME:
Author

CHEGKED BY STRUCTURAL
Checker STE E L P LAN

PROJECT NUMBER

23-126

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




10'- 2" 5 /2" 37 - 11 1/2" 19'- 10" 24" - 2"
p 7 51/2"
4 51/2" 9 -3 33'-7 3/4" a3 212 19'- 4 1/2" 5172 23'-3" 4"
9'-61/2" 9'- 10" 6'-61/2" 8- 0" 8'-81/2"
L
\ 7
2'-103/4" , 3'-41/4" 7l-0 3-41/4" | 2'-91/4" 8'-87/8" 3 -4 1/4" 4'-35/8" 3'-0" 3'-10 3/8"
. 2 2| .. " .
¥ U Sw 8-3" C H33; 4514 o 3-0" <
8 B - - B B - - B - - — — — — — — 73 - 7 -+ o — I il | — H*%_E 1 ' NENE
> 3-41/4" Ly o 3-41/4" : | = | T B ==
i g 3 HE -5 [T SO 3 HeE - 51 L22 L21 ‘ 120 AR
B ~ T T T T T T T T e - - - [ ] _ ! _ L _ | - =M T T T T T @)} :7 T :7 -\
> N T [Tl — T [ 11 ] i SR | ,
. S - L25 124 1D I &
e | Rk B
N e . |
™~ ] =
. N | 3 © :
= ;r _I _ _CD e =
2 | ° s : iR -
i? } “—‘E © f\l ‘ ‘ L 5! _ 3" 8| _ Ou - 10| _ On o ‘ : _OI f?
- N SN ¢ / . . | o 2
s 2 1'-111/8 !
. N © | L 7-514" ] |
= N ! !
N = |
: 5 ocg N - ‘[—‘\ & W 7'-51/4" 5
Y i g = =B Y Tl w I [70 | L71 o . . He-awr [ 17 I
* 5 Q SW 9-0" - = o 3 1= k \ \ 1 | o - - B
C N -\ B st i bbbt | ol _ . _ % _ _ _ ) _ +o 2 — — — — 3 N N = H . ! — — | — — - H % - X
. 1 Tek [ [ [ N > g% K \ a |
= © . ¥ 138 1 9 © e N | 89 ) I
.| < ® A . K N 1 | .
|8/ g 9 2 gl‘Héﬁ Simn = Iy \: N 2
~| ™ L | i . = " Al 7iii | z N~
R o 2] e q1] ol 5 Q S H N . ! S
Te] v -+ 1 w = | | ls, N — © Te}
- o o o © ™ I N = :
¥ &Y : T > . o R i I
A NG ;‘;C‘?ﬁ;‘; ] L _ F ‘QT _ _ _ o o N . . 1‘_7 | . _ _ _ _ - — | 1 1 \a')j; _ _ _ _ _ _ | L A
v Sl L ) 10'- 0" 5'-7 3/8" 8'-0" 9'-31/4" 91/8" 5 R T |
= [sp] 7 ! -1 | =
il @ TS 6'-3 1/4" 16' - 4 3/4" 9'-31/4" 91/8" o ‘ L &
R EL 111/2" ] 3 1 uli uiR <
- = AN (] " -
© % N | 6 -31/4" 3 = S 140" N A | | s ¥ <«
| | @ H8-01/2" e % - = 41
E N — 7T + == = — m=====-=gres—= i e M i fi — — — — — — — T — — — — — —| F———X N
Q == ‘ . I - NN S EL TN T T[T — ) | R M o \ L 3 e o
(1) : ' N T R85 E (S T L3 N 5 135 3
\se/ 2 H s a ab g / S . o T
- ~ ~ ~ | | | | | | | | o o
© = ol S -~ | : } I | N N O A \ \ \ || o I
' ! X - A A |- \ | | \ — ——
> =y I | =) S 1 = i ~ I N A \ uEK K N
BT N o 2 |7 S 5 B all
= ) - = ~ - = 1 | 2
= | % : ‘ N '\} S G | © | 3
= L N N1 X N © IR -
N o o | 31/2" | 12'-0 1/4" R } Inl= ain -
;_ | E ‘757 ‘9 = | ;_
-« | [ | LI " " - [ ] L " L " :T i - = -~
=7 8'-01/8 31/2 N IR *‘Ff 8'-0 , 4-01/4 :} if? 2
| [ ? - = \ = _ ] 1 (o)) -
e N =3 SN i N iz 1B
! — 1 -I = © -I N = [ ~
R 5 2 © T2 2101 o | o | |3 & I ) ]
§ § i E ™~ NA#N N H 8“- 2" i | H}H I L ‘ |” - 0 7‘; - ‘H ‘ ‘ el - 2 ; } i :
R - o N - | | R € - |
[N o L - -1 JE— JE— — o 4— ad - ‘ ‘ J— ‘ [ : JE— J— : ! 77‘ — J— J— JE— J— < J— J— JE— J— J— JE— JE— J— | — 1= PN
@i?a AN B ol = S& ionl 0 N THY ull ST
2| = Aﬁg ° Swo N : ‘_\ié? é?i\_‘ & s DW | o - - T T N =i | \LW@ X T I
LA g N 1 _ _ _ A _ _ = el b, TS0 _ _ _ _ _ I — == -t e e E—— — ~
Sl T o P s =% o o 5 16 107 Y
5 = 2 }: % )2 -101/2" ) 10 || | H| o = - Hg'-7" = 5
~ ! | 1 | | Re) = o ~
1 Zv) (0 | 1 1 E\l ‘ | | P ‘ Q _' 1
> I N - 12 3 A il ] 8.1 19 L0 ol B ®
H O LR 11 — [N ] | N | o N ) Ui | e N [ | N i NI I ‘ . I
N Tt o C - _C V e N e . o _ . _—_—_—_— i ar W - _—_—_——_ 1 - — T — FT — — - " A W — Em— — - — — - - — —
e on 3'-41/4 - 3'-31/4 SW 40" N TP 3'-41/4" 3 -41/4
< g m SW6'2 | H5|_61/4u ﬁ SW 12'7 H 3._31/4|3 m 1'-97/8" 1'-97/8" I SW6-2 1 H4|_61/ " H4'_61/4" ) 4" -
‘© 6'-53/8" 3 -4 1/4" 12'-10 7/8" 3'-31/4" 4-57/8" 6'-2 1/4" 2'-113/4" |, 3' -4 1/4" 6'-2 3/4" 3'-41/4" | 3'-53/4" 3'-61/2" 16'- 0" 3-81/2"
| 7 | 7 517277 | "5 | 5" | 7 175 172" 512" ||
n 4" | | 514'-55/8" 8- 0" 8'-0" 10'- 0" 9'- 10" 6'-53/4" 9'-7 3/4" 9-9" ‘ 23'-3" 4"
/1 |
10'- 10" 21'-2 5/8" 9-2" 2°-91/2" |, 4'-13/8" 19'- 10" 11 172" 23'-81/2"
7
92'-91/2" |
("4 ("3 2 5 ("1 ("3
7
1 GROUND FLOOR WALL PLAN
1/4" = 1'-0"
12'-1 1/2" 11'-10 1/2" 11" - 1"
TO.PLATE [ i i i i i i i ™ ) T.0. PLATE >H7H7 A X
10' - 1" 10' - 1"
| | 7"x0.054" |
X-BRACING STRAP
REINFORCED GUNITE
COVER 3" THK — = ONE SIDE OF LGS PANEL SHEAR WALL SCHEDULE
SPRAYED CONCRETE EXTERIOR WALLS: | " "
TRACK: 550S150-54 ! (1] SPRAY-ROCK" sprayed concrete shear
EXTERIOR WALLS: \ STUD: 550S150-54 Px/ wall, 3 inch thick
TRACK: 5508150-54 | X—~——Length of Shear wall (Min.)
STUD: 5505150-54 REINFORCED GUNITE S
" 10'- 4 1/8" 21'- 4 5/8" 4" !
y COVER 3" THK —— 7
SPRAYED CONCRETE I HD per Schedule
| 7 !
L —
T.0. SUBFLOOR T.0. SUBFLOOR S10 Refer to Plans for Specific Transfer &
@ FOUNDATION FOUNDATION N Connection Detail at each Shear Wall Location
Ol _ On Ov _ Ou ‘
|
| | " | HOLD-DOWN SCHEDULE
4" 8| 0" 8| 0" 8| 0" 8' Oll 3| 1 " 4" 4" 4j 1 l B 5 1 2"
- - - - - 4 3-6" 16'-9 7/8" 3'-51/2" 13'-0 1/4" 4"
Y~ AVW AV TYPE HOLD-DOWN ANCHOR / EMBEDMENT
3'- 10" 33'-11 1/2" 1-91/2,

)

STRUCTURAL SECTION

DRAWN BY

Dz

®)

STRUCTURAL SECTION

2

1/4" = 10"

SIMPSON S/HDU9

7/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"

MIN 9" EMBEDMENT

SIMPSON S/HD8S

7/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"
MIN 9.5" EMBEDMENT

CHECKED BY

MK

SIMPSON S/HD10S

7/8-DIA F1554 GR36 WITH SIMPSON EPOXY ADHESIVE "SET-3G"
MIN 9.5" EMBEDMENT

3 8 = 10"

PROJECT NUMBER

23-126

SHEET NUMBER:

S3

SHEET NAME:

STRUCTURAL
PLAN AND
SECTIONS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




) 10'- 2" 36'-71/2" 0" ]
c 5 % 4y s 5
R ”ﬂi T \ 7\ o iy — ) — — — — S ey i S — | —— | S———— | - —_— — S S — o S — Sy —— \Lwi
) A | || | || | || | | | | || | || | || | | || | || | Il GUNITE CONCRETE
e THl N | i | | i | | | | i | i I 1 | i IR Il T EDGE BEAM
[ap]
- 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 1 Il
A | || | || | || | | | | || | || | || | | || | || | I X
D - tHH=H—+ o 4= o H o H - — o —H= —H = H—H= —H - TT < 2'-10" 22'-21/2" 4'-111/2" 10'- 2 5/8" 47/8"
o
: - 51/2" 8 -1 8'-0" 8'-01/2" 51/2"
© [ | || | || | || | UL | | || | ' || | | || | || | o ] '/ A a o
5 1 1 1 1 1 1 1 1 1 1| || 1 || 1 ' 1 1 1 1 1 1 1 1 Hu : u H i ﬁ
<
. | | | (T | I s S S SH SHE g I | i (I LIl ;O.PLATEROOE i , . O
E Il T 0 I il — i o el T 11 -63/4 ‘ - - |
A | || | || | || | i | || | | || | || | || Hu | |
| | i | i | i I i | i I 1 i | i | 0 R s Tk |
Al | i | | i 1 || I 1 | i IR I 5 SPRAYED CONCRETE |
) 1 1 1 1 1 1 1 1 1 1| 1 1 1 1 1 1 1 1 1 Hu E | |
—q. L} n L} " R 1 " ! ‘
= |l | | 18'-107/8 | | | | 10'-7 ~ | | | | 19'-11/4"] | | 0l " \
- | “ EXTERIOR WALLS: |
" | | || | 1l | || | i 1 | | || I . H TRACK: 550S150-54 \ |
- | | i | i | i I | o 1] i I | i | i | i Hu STUD: 5505150-54 | |
== i | i || 1 || 1 1 | e ——"— | 1 1 1 1 1 \ | i | H T.0. SUBFLOOR | TERRACE
| SLOPE 1/4"
A | || | || | || | A1 - | I | 0ol || | | || | || | Il 5 @ ~ 2NDFL 1 |
= |/ T O | | A A S 1 [ | A N LT (I /I I 1 o 17-53/4 > H ~
7 9} - - | | | H _g ) D
1 1 1 1 1 1 1 1 1 1 ) e — — | == - : j “ '
: 1] 1] B - i om0 won . = - B 1 | o\
X I I \ \ \ \ 1 mn 1 1 I 1 I I | 1 | | \ 1 \ I H :_| W I N EXTERIOR WALLS:
< | ofl <l <l <l ol ol ol ol &l <l ol <l el <l HHe ol ofl ol ol el ol I i ! ] o . 1 O e P  TRACK: 5505150-54
< RN =] Sl 2 SHS =l ) S5 50 510 51 5010 S 05 S5 =l SHOS = | STUD: 550S150-54
: \ \ 13'-31/2" | | \ | 6'-0" 123'-10" | | \ | || 5'-0" 23/4" *© |
) ‘ y ly | \ | \ | ‘ W10X30
- T q | | | | | —c FLOOR TRUSS: | :
- 1 1 1 1 1 1 \ \ 1 | 1 1 1 1 1 1 1 1 T ——o—1— CHORD: 350S150-54 N STEEL OPENING FRAMING
°l ‘ i | | | | ‘ ‘ ‘ WEB. 350515054 | = - POST: HSS5X5X3/8
| | | | L || || L | | | 0l || || | || | | | | TH : STEEL POST '! < BEAM: HSS5X5X3/8
H s H — 5 — H — — — H — — — e N, HSS5X5X3/8 i o |
) A | || | || - | || Ui | | I | 0ol || | | || | || | I o X |
=4 £ N, -
K Hw | | || | || | | | / R | I | 0 || | | || | || I o |
N , , | ‘ | ‘ N | ‘ ‘ ‘ | ‘ | | @ TO SUBFLOOR |
| “» T 4# - 7‘\ - :‘ - ‘\ — \‘ — ‘:7 — \‘ —— — : T — — 7‘\ — :‘ — ‘\ — \‘ : :7 = \‘ —— — :7 — \‘ — 7‘\ — :‘ = ‘\ —— \‘ ﬂ\l z\l @ FOyNDATION T . — S S S S —— — *|‘ =
100\ T & SHOWER | | - 0"-0" |
W 9 3/8" | || RECESS3" || 53/4" 10'-10 1/2" 7 3/4" ') SHOWER
7 7 | RECESS 3"
4" / 1| - 6" 2! - Oll 2| - OII 2| - OII 2! - Oll 2| - OII 2! - Oll 2! - Oll 2| - OII 2! - Oll 2| - OII 2| - OII 2! - Oll 2| - OII 2! - Oll 2| - OII 2! - Oll 2| - OII 2! - Oll 2| - OII 2| - OII 2! - Oll 1| - 6" 6 7/8"
q 7 7 7 7 7 7 7 7 K 7 7 7 T K 7 TRUSS BLOCKINGS:
48'-11/2" 6 3/4" CHORD: 350S150-33 | 4" 1'-35/8" |
10°- 10" 21'-25/8" 9-2" 2'-91/2" |, 4'-13/8" YR 9EORTE0E2 2'-10" / 21'-51/4" 9'-31/4" 5'-13/8" 4"
GUNITE CONCRETE . ;
EDGE BEAM 37'-91/2
9 8 7 6 5 4 L4X4X1/8 Q Q
1 2ND FLOOR STRUCTURAL PLAN 3 STRUCTURAL SECTION
1/4" = 1'-0" 1/4" = 1'-0"
10' - 10" 21'-25/8" 9-2" 2-91/2" , 4-138" , 91/2"
51/2"
4" Y 8'-91/2" 8'-0" 4 -5" 10'- 0" 6'-2" 8'-0" 2'-31/2" |, 512"
3-101/4" |, 3-41/4" |, 3'-858" |, 3-414" |, 8'- 10" L 6'-31/4" L 10'- 4 1/4" , 3-44 4T
| \ 8 \ \ | |
= z\l Sg =
o g 3414 3-41/4" SW 80" J 6 -3 1/4" 3 SW 100" & v N
o © - H5' -6 1/4" H5-61/4" | -/———-L 22—~ | =~ He8 -+o1/2" --------------------------- H 5 -6 1/4" © I
a 2 =N [ 159 [ 158 i \ \ A
= S N AN = N
3 %o N : o= =9 olal &.
© 2 S | - el xS S S
N '© = % o= K T2 2t ]
< o w1 NN < ' e ©
| N - - : B
E : I _ - L _ _ 0 - _ _ Ny o _ _ _ -
2N 2T T . | | i =
C R - © 1 Z - " " -I | _l
o < < 2 5 12 312 312 312"+ | =
) b o S Vg
© i 18'- 1 7/8" = 6'-43/8" 3-71/4" 3'-83/8" 4'-11/4" L5 1/2"
A ‘ c _ ‘ ‘
1 | | ? s £ ! 41 3( ‘ | :
% | % % | |
: : 3| _4 5/8" V 8! - Oll 8! - Oll V 8| _Oll ,\ V 8| _Oll |‘9
~ A ?o =o I ‘ Lr) = I‘I
-— =T T ] Hee—| © = 1Q E
) vL{) o = _ ‘ ' N N N
o © | 2'-101/2", 2'-8" X & . e 5 = B
b K = | / / = = | Z-11172 | . e o .
o | | { 7 | “’ - [ N{1 ) HE-412 | L L . s
| T H}H T T I | 1 I I T H}H I — 1 Jj - i l:[ i © ﬁ | Z'xl)
| N7 % N 2-1012[ N9 [ N10 | | | '
1) ® Hg -2" % %! SR :
5 - - I AN - 2'-111/2" | 3 5" = = : | = Sllgy N
! § § = N g \ X N ‘ © | ™ | 4 7 C'> ‘.r* ‘ O' C'> ‘.r# :) ‘L[_)
R <€ = =& K © 5l | | bgl 7 N
N I A ! o 70740_:74‘» ‘ s s o | — — QT = - i 1 '%:—{ ‘ T _ 0 o (o]
N ™ © T o T TI L o = i N N o L
bR ; = = 2 - 10 1/2" ] n ' n ' " = -~ | ;
o ] & & 01/ 2'-6 4'-51/2 4 -4 o
E\Iu u: '\‘\A< - 8‘-2 7 I \H\ I ‘ HI% e I «
N — I I = I e e iy e = — . T - - - - - 0 T IN2ZB T2 -1t 172" N | B
I N21 T N22 gl om Q & He -4t .
; ' 31/2" . ® oy : %
o = = | s N30 ™ o 4
- o 5 8'- 0 5/8" ﬁL 2'-101/2" |} =131/8" | 2'-111/2" N
K > ’_\- : V | / I — H iﬁ . -— | N32 . —
™ a\) crl) ; : 4'-10" 8-0" 5 3/8" 6 -0" - N &l) a } [ T — L[I) al)
N~ N | [ 4 \‘: A C
H - = — — — — — — o o — — B — — — Loy [ g-0— 3-11 778 ©
1 | L - —
: o | LYN) -2 0 ! 0 - v
° | 3-41/4" Z \\ J 3-41/4" © o 3 o050
! | H5' -6 1/4'— 7 - | H5-614" ™ H5161/4" - |
N - = « ]
& Lt e S — rari i — T e N
= SW 12-10 | i N
w ) 1< \ SHOWER 2 SHOWER" o
m RECESS 3" RECESS 3 SHEAR WALL SCHEDULE
4! - 9" 8| - Oll 8! - Oll 8! - Oll 8| - Oll 8| - Oll 3| - 1 Oll
W | 7 | 7 ‘ ‘ | 7 | | "SPRAY-ROCK" sprayed concrete shear
| ) .
6'-438" 3 -4.1/4" 13'-07/8" 3-41/4" 1210 1/4" 3 -41/4" 5 -37/8" Px/wa”’ 3 inch thick
| %——Length of Shear wall (Min.)
512 31/2" 51/2" 31/2" I = SHEET NUMBER:
4" 12'-6 1/2" 15'- 4 1/2" 6'-85/8" — 11'-7 7/8" 4", 51/2" | B
S ' HD per Schedule
|
-
9 8 @ @ @ Refer to Plans for Specific Transfer & DRAWN BY
Connection Detail at each Shear Wall Location SHEET NAME-
Dz
("4 ("3 2 5 an ("3 HOLD-DOWN SCHEDULE CHECKED BY STRUCTURAL
W v S6 S7 W w
TYPE HOLD-DOWN ANCHOR / EMBEDMENT MK PLANS AN D
5 2ND FLOOR STRUCTURAL PLAN SIMPSON S/HDU9 ANCHOR BOLTS 7/8-DIA PROJECT NUMBER S ECTI ON
1/4" = 1'-0"
SIMPSON S/HD8S ANCHOR BOLTS 7/8-DIA 23-126

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




1'-0" 8" 1'-2"

1-4" 10°,2'-0" 2'-0" ,2'-0" 2'-0" ,2'-0" ,2'-0" 2'-0" ,2'-0" ,2'-0" | ,/, 2'-4" ,2-0" ,2°-0" ,2'-0" ,2'-0" ,2'-0" 2'-0" ,2'-0" ,2'-0" ,2'-0" ,2'-0" 1-4"
A & 17 e e G X
N O A Truss Design Summa
A aN ol - - | T - %%H e e e [ e - iy By ’/\2\&’7 S X g ry
— 2 & ) UBE A | %ZF*TF*’H**\T*T\**ﬂ**\T*T\**ﬂ**\T**H**I} i N
AN - ™ He=e—=tt T H H et ¥ |1 A A I I I / g 5 -
al TONMOR o i /[ T Y IR | I ANt N Top Chord Live 20
A B e | N | I | I I I i Il ek | 1 | | | | . g ~| = Top Chord Dead 05
.| B | HN3 1 Nl AT :
i N s NN n | . I | N VI | I ! N Botttom Chord Dead 05
- N; \‘} | | I | I | ! \ 1 1 | 1 7*‘\% B =OT Snow Load 00
N T e | I | I | | 4| 1 ! HNT } a Wind Load Provisions ASCE7-22
N g | [ I ! ] ] =1 Wind Speed 165
B 0 ol - - -d- N Exposure Category D
TN T . RN B < ] X nals T 7 o 5| Risk Category Il
_ o112, Al (I . | N1 N Roof Pitch 6/12
. —— - ———X¢ . el
2oel | /. | N e | | ;‘ 5 BC Restraints 2'-0
N~ Bl -
S o , | N
o N I Sl | | 5 B
‘ I Il i 4 | HN1 | ~ 2 =
N8 R o | HNT &
ol |l | | (N (| I N | b
oo .. nm 0o 0 W | i 2
1 ‘ ~N [
@ S B I | B RN | M { DON'T LIFT TRUSSES
2| =O
. 0 fmon N ] S WITH SPANS LONGER THAN
S o 1/ L N -
|l | ——
e | N S I | \ i i 2 50 BY THE PEAK.
| L A | | S A | - HNT ) ~ CONSULT CFSBCI
_ 0T W 0 B | = Ri—
a5 0 . HEEEERE ] : 30" Span|or less
oo (. Y Y HNT N P
- NS s 2l 21 =HRell el =l el o = 2l ol <l =l ol ol =l of of == .
- ~ = ~ e - ~ - - ~ Hl— il FI R I R Y Rl FRAF ~ ‘\ 5 &
- A (. ]| | I | | HN1 || a| o~
e || - 8 | | | | | | | I | AN n— AN 60 degrees
' LI | (N | Y| Y I ' | o = or less
omononon {1 ¥ Y Y N O HNT ] & —
' . N e 5"
LI I VI (. | N: R
F N |- - -4 f 8 8 N 1 YN | I | AN | . N T A\l
S | . 5 N1 1 O 1 O (O O Y & i 1
G i B 1 | il I I My i g |l iy i e i i i Rt -~ N ——— 2 J 1/2 —p
: i 4 : ,
" N N i W W N 2 a : Tdg Line  sPan approx
Y | [ N R I T (O \ L L : <
-~ n . ROOF TRUSS: TRUSS BLOCKINGS: < !
o SR | | N ¥ I IR I I 1 &) * CHORD: 350S150-54 ROOF L CHORD: 350515033 o © REFER TO CFSBCI
| % | i‘ HeEEEET CH 0 e, ‘ f? = WEB: 350S150-54 WEB: 350S150-33 N Truss must be set this way if crane used.
N =O.\ ("g ‘ ‘7 H U N U B N o I || + 4, B o o o - o — N Truss i an example, your russ may nol match
S I f c\? > Insist crane operator sets truss this way,
Ly 19'- 10" 1';1 1/'2" 23'-81/2" ' |
30" to 60" Span
4 =
5, GROUND FLOOR ROOF STRUCTURAL PLAN . Spreader Bar
1/4"=1-0 1'-7 3/8" 2'-0" ,2'-0" ,2'-0" V2'-0" V2'-O" V2'-0" V2'-O" V2'-O" V2'-0" V2'-O" V2'-0" V2'-O" V2'-0" V2'-O" V2'-0" V2'-0" V2'-O" V2'-0" V2'-O" V2'-0" V2'-O" V2'-0" 2'-0" ,2'-0" n \‘
| (I N N A R R A I A A S0
[N B8 S e P .20 AT bl =
N I HN17 i ~
@Ae\_w S\ HN16 0 0 i el i e HNie ) i)
5 1IN ' e 21 | & T oorax 203 o
. - - a !
AR SUONC s ) Wkl s R 3 Line - >
_ z ; ‘ ‘ Zz | 112 of Span
:; © % ol T \ I I I | || | | | | | | || | || | | || | | Y B o @
ez SN 00t e REFER TO CFSBCI
gva') r”*E** :"07;\ A N NN S R | N IS I | N A N | NN A O I | S I N 2;2\7 x| il a Truss must be set this way if crane used.
— —] —— — T === J — — |+ — 7T |7 —t== IFr—" — || — | | 7 Il = | e ——— N
: ? 5, Ti HN10 A&f :‘ | I | || | I || | I | I I I | I g% HN10 i ‘ =OT This iz an axample, truss may not match,
2= z\.; | QLH'\L“L I I 1 I I I | || I | I | i 1 I /12\% | HN10 —H!I B a Insist crane operator sets truss this way.
: S T U | T | | | N | AN I | I | IS | R (| 510 B R N
e; 1 hNto | | | Y | A I | N | I I I I N HNTO | Sy
| |
E r S R N B w0 " N - - :
5 | | (. a 5
o 1 HN10 (I T I | A | I A I 1oL &
—] | — I — | I
S N | 1 I I I I | | | 50
a | HN10 1 | i | | | | i | i | HN1O || | & ROOF TRUSS:
N e | I | | | | I 1 I ;Jﬂt/*/ ————X— CHORD: 350S150-54
AN g i | | 7 | g | S|  WEB:350150-54 OUTSIDE FACE OF WALL
- N e == - e ST 4o X TO CENTER OF TRUSS
! o \ N n \ o
2. § | [ | R N N | I I [ . TRUSS
> & | HN10 HN10 N _
o N ];;;: — )G I | T A | A | N B N —— j‘;;: — . TRUSSBLOCKINGS: l
5| 2 i | [ N | N I AN | N | N | I | I | y ° WEB: 3505150-33
I T LI ' N e e AN
2 3 SIS 12 ST S 1 S0 1 111 ST 1 N I | 2
@ SO I A S L L1 | | N ¥ | I | R . B YN A | A | N S | NN | 2 L o S
= ° | } i i | i | I | 1 I | I | I | | \/\/ i } | °
@ Y T\ T M | 1 N N | I | N Y I | I | I | AN | N\ —_ e N
i S B i 1 i | i | I | 1 I | I | I | i | 7 | o
5 2 I HNto | | | | HN1O | 2 | |
i N = }: S = | | | | 1 | 1 | | 1 | I | I | 1 | L — }t = N\ CENTER TO CENTER
© o N IS I | I | A | A | | A N | N (N N [N A o N | g F A
@ R\ *”“”/j\// - H—H —HF—H- H+— K H—H —HF—H H— K —H H — Hf\\f\g“‘ﬂ;ii = N i
- 3 ‘ =
o © Ny 4. | | 1 | 1 | I | I I | I | | 1 | I I N = EXTERIOR WALL SHEET NUMBER:
SRR L V70 (=300 [ | | N N O Y N Y | | 2l N2 51 - -
2 i e i Tt A e/ A e | il | e | A | A i 1 [ N ° Dimension Sample
' zZ Z ' DRAWN BY
NE I | | T T | ay SHEET NAME:
;f 1-111/4" 2'-0" 1'-81/8" ATTIC j 1'-81/8" 2'-0"|, 1"-111/2" DZ
I o A STRUCTURAL
1-4 47 -7" o 1'-4"
| | | | MK ROOF PLANS

21'-25/8" b 9-2" LZ' -91/2" b 4'-13/8" %1/2""
7/

\
\
-6 ,
4 PROJECT NUMBER
1 2:;14[3 EL,I(-)(?-R ROOF STRUCTURAL PLAN e 23-126

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




T.0. ROOF RIDGE
30l - 4"

T.0. PLATE ROOF

T.0. PLATE ROOF :$ NS\ | . , | > \ﬁ%

/

21'- 6 3/4" % Al I:] C 21'-6 3/4" | |
Yo} Yo}
© L ©
1'-4" 6-312" |
7 7 7
REINFORCED GUNITE |
COVER 3" THK — = |
SPRAYED CONCRETE 40
‘ M
_ | |
T.0. SUBFLOOR e TERRACE T.0. SUBFLOOR . SHOWER TERRACE
@ _ _2NDFL > o B B B B | B SLOPE 14" | @ B 2ND FL 3 RECESS3' | B 1 B B - f"oﬂi B
7 E 34 45 . e — S e e 1" 75 374" - sl . - I— p—— .
S NNAIRNNNNNIVIZZIZIZNN AN/ o DNNNN VI /NN/ZT/ANN]
T.0. PLATE ‘ ' T.0. PLATE =
b IlEINFORCED GUNITE | | | | -
COVER 3" THK W
SPRAYED CONCRETE
EXTERIOR WALLS:
TRACK: 5505150-54 |
STUD: 550S150-54
7"x0.054"
X-BRACING STRAP
INTERIOR SIDE OF LGS PANEL
T.0. SUBFLOOR T.0. SUBFLOOR
@ FOUNDATION . | - - N - @ FOUNDATION R - - - - - - - -
Ol - Oll Ol - 0"
‘ 51/2" 5 1/2" ‘ ‘
4" h -6 1/2" L% 10'- 8 1/8" 4, 4-51/4" 4-1114" 4 2-10" 4", 17'-51/2" L, 4-514" 4-1114 4
7 A7 # A A7 # 7/
2'-10" 17'-91/2" 9'-81/2" L 17'-91/2" L 9'-81/2" L
H E <
1) STRUCTURAL SECTION STRUCTURAL SECTION
1/4" = 1'-0 2) 34" = 1-0"
25'- 0 3/4"
oS i ’ 2-10" |, 22'-21/2" 4-1112" 4
/ I ﬂ
6, | 512", 5-178 9-0" L 9'-115/8" L, 512
’ . 7200 7 i 7 7 7
@%< A ” ’ il
ToPATEROOF 59 g7 0 NN N N N / /™ T.0. PLATE ROOF Iy
21'-6 3/4" \ i | \ 21'-6 3/4" |
REINFORCED GUNITE X R4
COVER 3" THK © ©
REINFORCED GUNITE SPRAYED CONCRETE o ©
COVER 3" THK
SPRAYED CONCRETE '-87/8" 3 -41/4" 5-85/8", 3-41/4" 4'-10 5/8"
EXTERIOR WALLS:
TRACK: 550S150-54
STUD: 550S150-54 |
T.0. SUBFLOOR TERRACE T.0. SUBFLOOR Y v v TERRACE
a NE— L < TR T T T SLOPETY S . .. 2NDFL ? - " SLOPE /2"
11'- 5 3/4" | ' 11'- 5 3/4"
|
. . [} | o AN |
T 0. PLATE ] STEEL POST T 0. PLATE | T STEEL POST
10 -1 ,ﬂﬁ HSS5X5X3/8 T Il HSS5X5X3/8
| —
; . ; n 6 = STEEL FRAME
91/2 | | 11'-111/4 < -
, . , N . ] EXTERIOR WALLS: W S9 R 7 POST: HSS5X5X3/8
16'- 8 1/8 4'-43/4 3'-0 1/4 4 1/4 TRACK: 5505150-54 ® BEAM: HSS5X5X3/8
| hTEEL ot STUD- 550S150-54 a gl 4538 3-41/41 12'- 2" 3-314 LUs-7 g1 4
| & HSS5X5X3/8 x
. [ 7"x0.054" © = 4
| X-BRACING STRAP - Sy S9
| EXTERIOR WALLS: INTERIOR SIDE OF LGS PANEL - >
< TRACK: 550S150-54 X i
T.0. SUBFLOOR | STUD: 5505150-54 T.0. SUBFLOOR ~ N
@ FOUNDATION - - - - LN | @ FOUNDATION I R N, N
0'-0" S ~__ STEEL POST 0-0" { |
HSS5X5X1/2
| | 5 < 5" 5" ‘
4" 16'- 8 1/8" AL , [ 4-61/2" 41/4" 4" 10'- 0" 9'-65/8" N 3-314 | ) 3 -6 18"
2'-10" 17'-91/2" 9'-81/2" 2'-10" 27" -6"
H E c H <
3 STRUCTURAL SECTION 4 STRUCTURAL SECTION

1/4" = 1'-0" 1/4" = 1'-0"

DRAWN BY

Author

CHECKED BY

Checker

PROJECT NUMBER

23-126

SHEET NUMBER:

S6

SHEET NAME:

STRUCTURAL
SECTIONS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




<; H H G> 30' - 4|| i \
> O PLATE ROOFC LN\ B B -
21'- 6 3/4" - ° | |
ROOF TRUSS: "
CHORD: 350S150-54 A
RO D o T o 48 WEB: 350S150-54 / 6,
SPRAYED CONCRETE | < | ‘ \ |
TRUSS BLOCKINGS: y
CHORD: 3508150-33 | T.0. PLATE ROOF r/ < | > ™~
WEB: 3505150-33 STEEL POST 21'- 6 3/4" | -
HSS5X5X3/8 | | |
T.0. SUBFLOOR % | ]
@ o 2NDFL i s il - - o T — REINFORCED GUNITE |
11'-53/4 i i i i i i i N ‘; COVER 3" THK —=— | |
________ — i SPRAYED CONCRETE |
T.0. PLATE - i | 3
10' - 1" 1) \ o 133/4" 51/2"
\ STEEL FRAME \ | @
POST: HSS5X5X3/8 | 5 1/2" 12'-0 1/2" I 8'- 10 3/4" 2'-10 172"\
BEAM: HSS5X5X3/8 | e | | 7 |
4 6'- 10 7/8" 30-41/4" 12'-10 7/8" 9'-10" 7'-13/4" 3-214" Il 3-41/4" 6'- 2 3/4" 3'-41/a 3'-111/4" 14
i - & T.0. SUBFLOOR -, | TERRACE
EXTERIOR WALLS: 2 5 | X X | OND FL SEHcchVglgz SLOPE 1/4"
TRACK: 550S150-54 = R © © — .=, = — . RECESS 3" |, — ' S — =
STUD: 5508 150-54 ? > | i o 11'-53/4 AN N N N B\m\ ' Vi |
: I | & % T.0. PLATE / i
3 |8 |r ~ ~ 10717 7"x0.054
~ 1 1 "x0. "
T.O. SUBFLOOR N | | o - N BRACING STRAP
FOUNDATION N - - | N L FLOOR TRUSS: | EACH SIDE OF LGS PANEL |
Ol _ 0" N | N CHORD: 350S150-54 !
WEB: 350S150-54 |
| INTERIOR WALLS:
512" | || |52 5" X TRACK: 350S150-33
4" L 8'-0" L 8'-0" L -0" 9'- 10" 6'-53/4" J 9'-73/4" 9-9 5 114" % 1 758 STUD: 350S150-33
7 7 7 7 7 7 A7 \ e Wl ., \
32'- 0 5/8" 9-2 27'-10 3/8" 2-8l 2102 g2 - 1012
T.0. SUBFLOOR
1 STRUCTURAL SECTION 0'-0 | \ } }
1/4" = 1'-0"
— 1 — = — = — = — I — m 5 1/2" 5 1/2"
4" | | | 16'-21/2" 4 |
A7 ‘ ‘ A7
2'-10" 3-10"  2'-01/4", 11'-11 1/4" 4'-13/8" 5'-71/8"
o mareRoor € drldrrreyrreer by 0 e b ¢
21'-6 3/4" imi i E
S > 5 STRUCTURAL SECTION
INTERIOR WALLS: ) < 174" =1-0
TRACK: 350S150-33 — N N
STUD: 350S150-33 s %
REINFORCED GUNITE .
COVER 3" THK 53/8"
SPRAYED CONCRETE 9'-115/8" 2'-10 112" % 22'-65/8" 4'-65/8" 2-1112" )l ||| 5'-23/4"
T.0. SUBFLOOR [
) _ 2NDFL R | | 1 N || B - -~ NIl | . |
e I L mi il I 11K AN
T.0. PLATE 1 1 | |
10'- 1" B NI | | A | A || N (| (| VA N I« N | I 1 | NN WS- E— S I S I E— — - \ STEEL OPENING FRAMING
———————————————————— | POST: HSS5X5X3/8
TRUSS BLOCKINGS: BEAM: HSS5X5X3/8
CHORD: 3505150-33 |
WEB: 350S150-33 |
|
N & o3 3/g" | & } | EXTERIOR WALLS:
6 1/2" ®© 2-338 w 9 112" o ‘ - TRACK: 5505150-54
18'- 7 3/8" T 2'-101/2" || 8'- 10 3/4" 6'-21/4" 26'- 3 3/8" 3-21/2" 16'- 0" 4'-2 4" STUD: 5508150-54
T.0. SUBFLOOR | |
FOUNDATION - - - - - \ | _ , - - - - - - - - - - - - - N | N
® Ov _ Ou N ] A\ ’ gg
%
51/2" 31/2" 51/2" 51/2" [ 5" 5" 51/2" |
4 | 18'-17/8" P 12'-0 1/4" | 9'- 10" 26'- 3 3/8" 31120 ) 16'- 0" ez ), 4
it 7 A7 77 A A7
32'-05/8" 9-2 27'-10 3/8" 23'-81/2"
9 2 5
2 STRUCTURAL SECTION
1/4" = 1'-0"
T.0. PLATE f .\ I T.0. PLATE ROOF \
10' - 1" | 21'-6 3/4" . u
| |
REINFORCED GUNITE ] _ 1 REINFORCED GUNITE E < N %
COVER 3" THK — =t T T ‘ COVER 3" THK —=— = = = s
SPRAYED CONCRETE - o o1 1 SPRAYED CONCRETE | © W «® @ | ©
] _l ) .\ , [O L , " , [0 " , " \' E‘O " " " , | [O " ) "
ol B sl 52 N o Lia b5 g - P 3o il 6'-97/8 3'-41/4 13'-07/8 3'-41/4 4'-43/4 3-31/4 5'-23/8 3'-41/4 5'-93/8
K EXTERIOR WALLS:
EXTERIOR WALLS: TRACK: 550S150-54
TRACK: 550S150-54 STUD: 550S150-54 | |
STUD: 550S150-54 | °
Y Y | . . S .
T.0. SUBFLOOR o @ ‘ T.0. SUBFLOOR < < % <
- FOUNDATION. Lk Lk | = 3742ND FL sl e A . . " Li = —
[ " A A L " N I “ I
0"-0 ] | > BN IS NN TN N TN LN N LN N H
| T.0. PLATE |
5 1/2" 5 1/2" 10' _ 1"
4 9-61/2" , 9'- 10" B 6'-61/2 8'-0 " 4-9 y 8'- 0" y 8'-0" 8'-0" y 8'-0" y 8'-0" L, 3-10m )
747 7 A7 Lz\ 7 7 7 7 | 7 7 7 | 7 | 7 B¢
19'- 10" 11 1/2" 23'-81/2" 10 ' o " om C g 4/ C 4 s "
) b L 10'- 10 L 21'-25/8 L 9-2 L20-91/2" |, 4-13/8" |, |, 63/4
4 B2 0 6.
3 STRUCTURAL SECTION 4 STRUCTURAL SECTION
1/4" = 1'-0" 1/4" = 1'-0"

t

T.0. ROOF RIDGE

DRAWN BY

Dz

CHECKED BY

MK

PROJECT NUMBER

23-126

SHEET NUMBER:

SY

SHEET NAME:

STRUCTURAL
SECTIONS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




T.0. PLATE ROOF B £ < B .4 >\ﬂ

21'- 6 3/4" | | -

REINFORCED GUNITE ]
COVER 3" THK —=
SPRAYED CONCRETE

o——
| | |
e e
co——
|| il

48 - 7"
TRUSS BLOCKINGS: =
CHORD: 350S150-33
WEB: 350S150-33

| 3/4

T.0. SUBFLOOR
@ o 2NDEL o N\ - 7;\ o o o - ‘ i ‘
11'- 5 3/4" : 1 NI T IJrnn T [ T I I I >
| IS =IER =S . LN (I N N1 IS S Y N S .. VAV

T.0. PLATE
10'- 1"

EXTERIOR WALLS:
TRACK: 550S150-54
STUD: 550S150-54

16'- 4 3/4"
T.0. SUBFLOOR B!
@ FOUNDATION o _ - - - - - o - - o - - o
Ol - Oll
| | I | |
4", 5'-7 3/8" 8- 0" 9'-31/4" 9 1/8" 23'- 9 3/4" 4 9 1/2" 23'-41/2" 4
4 7 7 7 7 7 #
, 67'- 11 1/2" 1 11[2" 23'-81/2"
1 STRUCTURAL SECTION Q i : Q
1/4" = 1'-0" H
il
T.0. PLATE ROOF B il :
21'- 6 3/4" ‘
REINFORCED GUNITE
COVER 3" THK |
SPRAYED CONCRETE _ d H ROOF
4'-33/4" 3-414 || I3-858" | 3-41/4" 8'- 10" 6'-3 1/4" 10 - 4 1/4" 3'-41/4" 5-0 1/2" ) H ATTIC
EXTERIOR WALLS: 1 !
TRACK: 550S150-54 e “ ] ] STEEL POST ) 3 ~_ - |
STUD: 550S150-54 | = | " & X HSS5X5X3/8 ~ —
< ] g © _ u ~ - — _
_ ] . . -
© ° © o B IS - - ]
~ —~
~
\ <
~ ~ ‘ P — ™~ - ‘
T.0. SUBFLOOR NI . ) ) h - ~_ )
S °° S - - |
11'-5 3/4" - ~_
_ _ i I & N = N I & I = N = I = D = IS - S N & B & N = sl S D = N & I~ R = N 5 I = R = . = . _ Ll ‘ 1L L _ L[ 11 | L _ u _ . : \;
'1I'OO ?,,LATE STEELBEAM — (| r————rr———— -t Z - — i
- HSS12X8X5/8 5
S10
4 9-3" 8- 0" W 4 -5" 10'- 0" 6'-2" 8'-0" 2'-9"
|
RE'NFOCRS\EERQOH'\}',IE _ 1 | FLOOR TRUSS BLOCKINGS
SPRAYED CONCRETE BELOW EXTERIOR WALL
|| TOP CHORD: 550S150-54
/ BOTTOM CHORD: 550S150-54
STEEL POST | WEB: 550S150-54 o
HSS5X5X3/8 | |
T.0. SUBFLOOR
@ FOUNDATION - o - - o - - o o - - o - - - - - - - - - o - - o o
Ol - Oll ‘ ‘ ‘
| | ‘ | |
%", 10'- 2" 4 38'-1" L 19'-0 172" 4 Lg 1/2" 23'-41/2" 41
A # 7 #
2 STRUCTURAL SECTION B | I I I _ ROOF
1/4" = 1'-Q" I E E E H H Ll ATTIC
I =
FLOOR TRUSS BLOCKINGS i i . S P I
TOP CHORD: 350S150-33 o o ~ - 8
BOTTOM CHORD: 350S150-33 i ~_ -
T.0. SUBFLOOR . WEB: 350S150-33 T %
@ ~_2NDFL J L - - - - - - - - - - - - _ i - - - ~ i
_ | L il L il L il SIN!sIAN| \ LG _ - o P U Pl A LT LT 13 o E— o U | R
T.0. PLATE
10' - 1"
EXTERIOR WALLS: R

TRACK: 550S150-54
STUD: 550S150-54

REINFORCED GUNITE SHEET NUMBER:
COVER 3" THK —
SPRAYED CONCRETE Rl S 8
T.0. SUBFLOOR DRAWN BY
_FOUNDATION B B B B B B B B B B B | B B B B R - B - - - - oy SHEET NAME:
Ol - Oll ‘ ‘

CHECKED BY STRUCTURAL
4" LL 9-3" U“ 37'-31/2" 19'- 10" 4" 91/2" 23'-41/2" o MK SECTIONS

“l s sz /7
@ @ @ @@ @ PROJECT NUMBER
STRUCTURAL SECTION

23-126
1/4" = 10"

3

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




I STRUCTURAL FOAM

#10 SCREW
/ f TRACK

%_H T\ !

BOTTOM TRACK— @E
#10 SCREW ]

8" ON CENTER

§

—

WALL CORNER CONNECTION DETAIL

B \#10 SCREW

SIMPSON HEAVY-DUTY

SCREW ANCHOR 4' ON
~— CENTER MAXIMUM WITH
SIMPSON BEARING

PLATES BP3/8-2

(3) #10 SCREWS

HORIZONTAL
BRACING

—(3) #10 SCREWS

|
2 n ) n
3"=1-0 |
WALL STUDS |
B
SIMPSON HEAVY-DUTY |
SCREW ANCHOR 4' ON w | o
CENTER MAXIMUM WITH |
SIMPSON BEARING .
PLATES BP3/8-2 DOUBLE ROW \{ g AL X E
#10 SCREW DOUBLE ROW \ \ | 3
8" ON CENTER #10 SCREW | #10 SCREW ®
8" ON CENTER \\ \
e e + + «
I | | HIDSOREW J;T;\ ﬁl X-BRACNG | | |
STRAP
o | | = T o S |
TRACK L L | |
| | \ | \ | _ .
‘ ) N ) |
\ I — — [ — TRACK S . ) \
s / % N / = e | |
o 7‘ %ji o ‘ B . ® ®
5 o S S | |
A L8 ol a4 < N <
A’,\A ¢ o / - . o A b2} L @‘ ‘ @
g 4 L— s ” a
< 4 4 =14 - 4
’ © alH - ' ) - f \ \
SIMPSON HEAVY-DUTY ® ®
SCREW ANCHOR 4' ON |
CENTER MAXIMUM WITH
SIMPSON BEARING — L —
PLATES BP3/8-2
1 WALL CORNER CONNECTION DETAIL 3 WALL TO WALL CONNECTION DETAIL 4 WALL X-BRACING CONNECTION DETAIL
3" = 1I_O" 3" = 1I_O" 1 1/2" — 1l_0"
(2) BACK-TO-BACK 550S150-54
_—r — (8) #10 SCREWS (8) #10 SCREWS
% | ® | H FLOOR TRUSSES ) / BEND PLATE
— — S — TOP CHORD: 350S150-54 WALL STUDS WALL STUDS (2) #10 SCREWS
‘ ‘ n
| f \ EL BOTTOM CHORD: 3505150-54 \\ 3 1/2" 54 MIL \\ 12" OC
| WEB: 350S150-54 58? (T:EL(J)%%
| | [ I { oo B }
(1) #10 SCREW @6" O.C | e RN | S tn B
EAGH SIDE [ T [ OO QU FLOOR TRUSS BLOCKINGS [~ T ° T
| | . \ BELOW EXTERIOR WALLS E—
‘@ ®° @‘ TOP CHORD: 550S150-54 o |
\ ‘L T ol 7 R oo o ® BOTTOM CHORD: 550S150-54 -
- e ¢ — WEB: 550S150-54 .
| ;E 1 PLATE 5" 54 MIL < | . | 5
N EACH SIDE \ \ L |
(2 #10SCREWS | |
EACH SIDE | | N |
\ TRACK E ® oo ® o ® o «
STUDS N\‘N\ | ol /o e o\ |o L .
| o <
‘ \‘ ‘ { o Jl® ® & % g Dl ® o)l ®
. — = = F——F = —
|
| ‘\ | (5) #10 SCREWS
_ - |
@@ F O FCB43.5 CONNECTOR
L/. : | (4)PDPA-125 (0.157" X
D5 cai i B E— 1 1/4") WITH FULL
(2) #10 SCREWS / ‘\ | BEAM PER PLAN PENETRATION STEELBEAM — =
EACH SIDE | “ | TRACK EACH SIDE
(m/ **********************
\ \ |
|
FRONT VIEW SIDE VIEW
6 HEADER CONNECTION DETAIL 7 FLOOR JOIST TO W-BEAM CONNECTION DETAIL
3" = 1'_0" 1 1/2" = 1'_0"
- %

WALL STUDS

FLOOR TRUSS BLOCKINGS f
BELOW EXTERIOR WALLS
TOP CHORD: 550S150-54
BOTTOM CHORD: 550S150-54
WEB: 5505150-54

an

STEEL BEAM ——=

HOLDOWN WITH
THREADED ROD PER
SCHEDULE

THREAD

PER HOLDOWN SCHEDULE
WITH 1/4" FILLET WELD
WITH COUPLER

HOLDOWN WITH
THREADED ROD PER
SCHEDULE

WALL STUDS \

*

3/8" THREAD WITH 1/4" FILLET
WELD WITH COUPLER
4" ON CENTER MAXIMUM

STEEL BEAM

L]

\
FCB43.5 CONNECTOR /
EACH SIDE

(8) #10 SCREWS /|

WALL STUDS ]

P

AN

z.?@ .

g WALL STUD TO STEEL BEAM WITH HOLDOWN CONNECTION DETAIL
11/2" = 10"

PRE-ENGINEERED TRUSSES
@16" ON CENTER - SEE
TRUSS MANUFACTURER
ENGINEERING DRAWINGS SET

11/2" =1'-0"

9 ROOF TRUSS TO WALL STUD CONNECTION DETAIL

DRAWN BY

Dz

CHECKED BY

MK

PROJECT NUMBER

23-126

SHEET NUMBER:

S9

SHEET NAME:

STRUCTURAL
DETAILS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




STEEL BEAM \

PLATE 5" 54 MIL

/ EACH SIDE
|

® @\r ® DCHN ® ® H\ﬂf
o [N ) ) ) e (2)#10 SCREWS ‘ ‘
: \ : \ N J) @12"0.C. - -
|| | | | | T
@ ® ® ® ‘ ® ‘ ‘ ‘ ® i I STEEL COLUMN 3 ‘
‘ ® @@ z : : ® ® ‘ ‘7 ﬂ 7777777 ﬁi ® ® \ ‘ ,{, /E}:”
o o P limeal o\ el
| BBR | | \ ° S iR A
uesae T T e e L
/ FLOOR TRUSSES | | (2)#10 SCREWS (2)#10 SCREWS
FCB43.5 CONNECTOR TOP CHORD: 350S150-54 \ STEEL BEAM @12" 0.C. - )
EACH SIDE BOTTOM CHORD: 350S150-54 \ | STEEL BEAM @1z'0.C. STEEL COLUMN
(8) #10 SCREWS F'd WEB: 350S150-54 ‘ ‘
WALL STUDS - 3/8‘
SIDE VIEW TOP VIEW SIDE VIEW TOP VIEW
1 FLOOR TRUSS TO WALL CONNECTION DETAIL 2 HSS BEAM TO HSS COLUMN CONNECTION DETAIL 3 HSS BEAM TO HSS COLUMN CONNECTION DETAIL
11/2" =1'-0" 11/2" =1'-0" 11/2" =1'-0"
STEEL BEAM STEEL BEAM STEEL BEAM STEEL BEAM
i T \/ T STEEL BEAM / STEEL BEAM
iiiiiiiiiiiiiii fiiiiiii e .
- - - -
e A e T | | |
\ \ \ \ \ m . .
| | \ STEEL PLATE | | | | \ STEEL PLATE | | | | |
PL. 5X5X3/4" PL. 5X5X3/4"
B C/ | B B 3 SIDES L L
‘ 3/8‘ 3/8 | | 3/8 | | 3/8‘
\ \ \ \ \ \ \ \
STEEL COLUMN /‘ | | ‘x STEEL COLUMN STEEL COLUMN —— | | ‘ | | STEEL COLUMN /\ | | \x STEEL COLUMN
| | | | I - | | STEEL COLUMN \ N \ \ N \
FRONT VIEW SIDE VIEW FRONT VIEW SIDE VIEW FRONT VIEW SIDE VIEW
4 W-BEAM TO HSS COLUMN CONNECTION DETAIL 5 W-BEAM TO HSS COLUMN CONNECTION DETAIL 6 W-BEAM TO HSS COLUMN CONNECTION DETAIL
11/2" = 10" 11/2" = 10" 11/2" = 10"
LIGHT GAUGE STEEL T
L2X2X54 MIL
WITH (4) #10 SCREWS TRUSS BLOCKING } }
C s EACH SIDE i
\ N TEIRIN BRI BRI A 9% // N LIGHT GAUGE IARARARN \ | | |
IO STEEL TRUSSES | TJC37
| D | SRR FRVAY L
7 | / / 5/8 CDX PLYWOOD WITH (6) #10 SCREWS
- PRE-ENGINEERED TRUSSES oy A %u FASTEN BY #10 SCREWS | ‘ \ N 1] TOP & BOTTOM
" ) < H b=l — 6"ON CENTER ON EDGES AND , .
,‘\ | AN, WA / 7 1 ]l 127ONCENTER AT INTERIOR 3/4” SHIPLAP MAGNESIUM OXIDE BOARD || RS TR } } ¢
| WALL STUDS | ENGINEERING DRAWINGS SET 5 d SUPPORTS PASTEN BY #10 SCREWS |, N
| | Pl /// Ly 6" ON CENTER ON EDGES AND = ¢ | AN I
S 12" ON CENTER AT INTERIOR
X-BRACING SOy \ | LAY |
| S o/ g SUPPORTS
STRAP L2X2X54 MIL o /) |
0660 | WITH (4) #10 SCREWS Py /// | 4l LIGHT GAUGE STEEL | | AU\ RERVRERSRARY } N
TRACK @ z : Z‘%/ PL 6x6x54 MIL i EACH SIDE //// /// ‘ | ‘ TRUSS BLOCKING | \\ | e 2\ | |
— °“*JelT - (18)#10 SCREWS A8l B 2 @///V NN | | IR |
| | s / S ‘ ? ‘ LIGHT GAUGE STEEL PRE-ENGINEERED TRUSSES
A4 TRUSS BLOCKING 24" ON CENTER - SEE
7 w L] TRUSS MANUFACTURER
ENGINEERING DRAWINGS SET
7 WALL X-BRACING CONNECTION DETAIL 8 TRUSS TO TRUSS CONNECTION DETAIL 9 ROOF SHEATHING DETAIL 10 FLOOR SHEATHING DETAIL 11 TRUSS TO TRUSS CONNECTION DETAIL
11/2" =1'-0" 11/2" =1'-0" 11/2" =1'-0" 11/2" =1'-0" 11/2" =1'-0"
E
‘ i ® [T~
I
T
| Mo
‘ e \
| me N (3)TJC57 WALL STUDS
| e WITH (8) #10 SCREWS
I [ ]
4 O COVER 3 THK S - ; as
} .J‘,_ © SPRAYED CONCRETE 3< ‘
|
| ‘\ \ | FLOOR TRUSS
| | STRUCTURAL FOAM o |
| |
| \#‘ PRE-ENGINEERED TRUSSES | (4) #10 SCREW
! 24" ON CENTER - SEE EACH SIDE
o TRUSS MANUFACTURER L4x4x16GA |
o ENGINEERING DRAWINGS SET WITH (3) #10 SCREW |
| TJC57 EACH FLOOR TRUSS %EQ ‘
} } | / WITH (8) #10 SCREWS A4 -
A e N 4
-
‘ EL' ® |
niie: LV S
12 TRUSS TO TRUSS CONNECTION DETAIL 13 GUNITE CONCRETE WALL EDGE DETAIL
11/2" =1'-0" 11/2" =1'-0"

DRAWN BY

Dz

CHECKED BY

MK

PROJECT NUMBER

23-126

SHEET NUMBER:

S10

SHEET NAME:

STRUCTURAL
DETAILS

ALL CONCEPTUAL AND ENGINEERED DESIGN WITHIN THESE DOCUMENTS MAY NOT BE USED TO ANY OTHER PROJECTS OR PRODUCED IN PART OR WHOLE WITHOUT APPROVAL AND WRITTEN CONSENT OF TAYNR, INC AND SPRAY ROCK, LLC.




	3D Views
	3D Main View

	Sheets
	S0 - COVER SHEET
	S1 - STRUCTURAL FOUNDATION PLAN
	S2 - STRUCTURAL STEEL PLAN
	S3 - STRUCTURAL PLAN AND SECTIONS
	S4 - STRUCTURAL PLANS AND SECTION
	S5 - STRUCTURAL ROOF PLANS
	S6 - STRUCTURAL SECTIONS
	S7 - STRUCTURAL SECTIONS
	S8 - STRUCTURAL SECTIONS
	S9 - STRUCTURAL DETAILS
	S10 - STRUCTURAL DETAILS


